Zinsrechnung

Berechnen von Zinsen {Jahreszinsen)

n 1. Berechne die Jahreszinsen (Z ):

a)K [1000 | 500 &, 2000@7;400 .| 600 4, | 800 & |2500 ¢, {3000 £ 12004 | 700 &
Pl 3% 5% 4% | 2% 7% 6% | 10% | 1% | 8% 9%

b)K |400% | 7004, | 200 &£, | 300 % | 500 A2 14000 & 5000 4C |20004€ [1500 € |1400 €1
7% | 10% | 12% | 11% | 4% | 8% | 9% | 2% | 5% | 3%

5% 7% |. 6% 4% 2% 8% 10% 15% 1% 4%

o
z

oK [1006& | 50 & | 80 % | 2004, [3500 | 40 42| 60 E | 700€ | 600 B | 70-£
P
z

2. Berechne die Jahreszinsen und trage sie in die Tabelle:

K Pl 2% | 4% | 5% | 8% | 10% | 7% | 3% | 9% | 6% | 11%

a) 350 &




